
    ENGLISH LITERATURE 

PT 3 -  REVISION 


I.Read the following extract and answer the questions:- 


a. “Suddenly he sat up straighter. He could smell the 
mountains, his mountains….” 


I. Who does ‘he’ refer to ? Why did he sit straight? 

Sukhram Lodhi / Alert/ excited about the familiar place


ii. Which mountain is being referred to? 

    Mountains of his village where he took the goats to graze


b.’Have you seen some soldiers pass, boy?’ It was the man on the 
nearest horse, no doubt the officer in command. 

i.Identify the addressee. 

    Sukhram

Ii. Who does officer here refer to? 

     Commander of the British army

iii.Why did the speaker question the addressee?

    To locate/ In search the Tantia Tope’s men/soldiers


II.Answer the following:( 20-30 words) 


a. How did Sukhram pass his time ? 


Herding his father’s 100 goats. Felt the grass sand stones, smelt of 
the mountains, goats  heard the goats’ hoofs on stones


b. Was Sukhraram willing to go to his grandfather’s house ?If yes/no 


No. Can't graze, not familiar with the surroundings, completely blind 

would be useless / boring


 III. Answer the following ( 30-40 words) 




a.How was Sukhram able to differentiate the English and the Indian horses.

Ans. Sukhram was able to differentiate the English and Indian horses 
because the Indian horses were not tightly reined and they smelled sweaty 
but the English Horses were firm and he heard the metal by metal clanging 
sound.


V. Write a diary entry as Sukhram when he knew that he had to go to his 
grandfather’s place. (Word limit 100-120 ) 


Monday                                                                                         8:30 pm 
6th November 2021


Today am feeling confused/ anxious/ miserable/  worth nothing/ totally 
dark/ cant graze/ blind / I would be worthless


I really hope i am also of some use to the Tantia`s army like my father 
and brother


SECTION B -POETRY 


VI. Read the following extract and answer the questions:- 
i.A man severe he was, and stern to view, 

I knew him well, and all truant knew: 

Well had the boding tremblers learn’d to trace 

The days disasters in the morning face;


a.Who is referred to as tremblers?  - students who trembled at the look of 
the master

b.Give the meaning of truant. 

Ans. Truant is a student who takes a leave without a letter or mentioning it 
anyone.

c.Make a sentence with truant. 

Ans. My friend from my tution is truant




dWhat were the students able to trace?

    How the day would be? Mood of the master funny,jovial / severe, stern 


VII.Answer the following:-( 20-30 words) 


i.Where is the school located in the poem ’The Village School Master ‘?


Ans. The school is located a on the pathway next to a long straggling 
fence. This pathway has colourful bright flowers on its sides but no one 
every appreciates it.


ii.Is the Villager school master an ideal teacher? If yes/ no state one 
reason. 


VIII. Answer in detail:- (50 words) 

Comment on the theme of the poem ‘The Village Schoolmaster’ 
Dedicated to the school master / villagers in awe of this abilities


Ans. This poem is about how much a Village School Master can 
do, how much he helps others. The villagers are awestruck in 
this poem by his abilities which are more than a normal Teacher. 
This poem is a interesting poem which is different from normal 
poems


Choose the correct answer


1.Father Busoni was none other than …….


a) Caderousee	 b)Danglars		 c)Fernand	 	 d)Dantes


2.……. Betrayed Ali Tebelin and his family


a) Benedetto	 b) Cavalcanti	 c)Count Morcerf	      d)Albert


3. Who was the witness at the enquiry against Morcerf?




    a) agent from Janina b) Haydee c) Count Cristo   d)President 
of upper House


4. Albert challenged the Count  for a duel at


a) Corsica    b) Vincennes    c)Toulon 	 d)Nimes


5. “Mercy is twice blessed.” Who said this?


a) Nerissa      b) The Duke	 c) Balthazaar(Portia)     d)Antonio


6. The messenger had come from


a) Belmont  b) Padua c) Genoa d) Rome


7. Bassanio offers ……. Ducats against the bond


a) 3000	 b) 4000	 c)5000 d)6000


——————————X—————————


